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(1) SRAMTTF Ax = 0 HIRZ A

(2) K A K57 8] BT 1) = A 2
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(b(el) =€ + 2627 ¢(e2) = —€, ¢<e3) = 3617 ¢(e4) == L7))61 + 262

BRI NG MRS, Ho eq, eq, €3, €4 & Z2 BIFREIL, €, €0 & Z2 HIFRAESL. 1T
5o (1) ¢ 7E_LdARAERE T BHRE, (ii) dim(im(¢)) A1 dim(ker(¢)), (iii) ¢(v),
Hir v =(1,-1,0,2)

SR 1112 mod 71 (f&ar: MH Fermat /Mg ).
. W f(x) = 2% + 22 — 3 € Zlz] AR

(a) fF(3) €Z;
(b) f(5), 5 € Zr;

(¢) f(A), Hrr A=
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(a) Wa,beF H a#0. UEH: B
Gap : Flz] — Flx]
p(z) — plaz +b)

M Flz] 2 Flz] B A F.
(b) % o : Flz] — Flo] ZAEMH olp = idp. IEWH: fFE a,beF Ha#0ff

//f%l: g = ¢a’b-



